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1- Choose the odd one out. (.aus bl 1) gae Hbs 5l Kialeals &3 55)

1) windy 2) weather 3) warm 4) wet
2- Kashan is in the center of Iran in Isfahan ===~
D city
2) province *."‘o‘v
3) town
4) country

= m Unscramble the given words to make the correct sentence(s).
S Al Gl (B Aded A4S aulad e sosh 1y 0dd& sdla sl ol

3- work/ and/ on farms/ animals/ People/ raise/.

m m Choose “True” or “False” for the following sentence(s) according to your general

knowledge.
Sl paddia 1A ages RN DA L) ) ¢ (@ e (False) Awb b (True) s
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4- Shiraz is famous for Imam Reza’s shrine.
o True( e ) o False (e ;b)

= m According to the given picture(s), complete the phrase(s) for the activity (activities).
Swled JulS 1 SB35 (sla) Cllad 3 by o (1) Dol 0ad 0315 (129La) o905 4 4263 b

g

m = Fill in the blank(s) according to the conversation(s).
Aaled JolS i 0315 (5(la) 4dls 4 a9 L | Js (s (L)l

6- Majid: . s Kermanshah?

Sina: It's in the west of Iran.
Majid: s the people’s ... there?

Sina: They work on farms.

7- Choose the best item.
Aales Ll 1y 438 o9 i -
A: What's the weather like in ............... ?

B: I's very hot, sunny and dry.
1) spring 2) fall 3) winter 4) summer
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8- According to the picture, which item is correct?
1) spring
2) summer

3) fall

4) winter

9- According to the picture, which item is correct?

1) hen 2) horse

¥

3) cattle 4) chicken

10- Choose the best item.
Y

B: It's snowy in winter.

1) What is it famous for? 2) What's the people’s job?

3) What is your city like? 4) What's the weather like?
11- They raise ............... in the village.

1) farms 2) animals 3) fields 4) plows

™
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12- There are ............... seasons in a year.
1) seven 2) four 3) twelve 4) one

13- According to the given sentence, which item is NOT correct?
Sl S yabs Mg}f 'e|.).5 o f,.q.ﬁ.o 4 d>oS L-

“Boys, be quiet! I'll be back ............... .
1) in a minute 2) soon 3) in a short time 4) same

14- Write the letter of each sentence in the appropriate column in the table below.
A9 225 U9z 53 OT camslio Ogiuw 53 1) ahor o & by pe 5, -

a) People raise animails there. City Village
b) People have lots of facilities.
c) There are many universities.
d) There is a heavy traffic.

e) The weather is pleasant.

f) Farmers plow their farms.
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15- Fill in the blanks according to the conversation.
S Jo5' 1 JB ol el 4 azgi L -

Y Lo [ ?
Amir: Well, | live in Kerman.
Y Lo 1 ?

Amir: No it isn’t. It's usually warm, even in winters.
Sina: Oh, it is interesting. But | live in Tabriz.

Amir: Reqlly?!l ... eeeeeeeeeeeeereeceeeeeeeeeeeeaenneees in your city ?
Sina: It's usually cold and snowy in winter.
Amir: Oh, great. | readlly like ............... Tabriz.
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m - Read the text below and answer questions.

et Frwly C¥lguw 4y 9 Aoz |y a5 e -

“India is in the south of Asia. There are 29 states in India and Delhi is its capital. Delhi
is an old city with big population and heavy traffic. There are many cinemas, great
mosques and interesting places there. Agra is another city of India. Taj Mahal is a
beauvtiful palace in Agra city and many tourists visit it every year.”

16- Choose the correct item.
1) There are many cars in Delhi.
2) Taj Mahal has a big population.
3) There are 29 big cities in India.
4) Agra is famous for its mosque.

17- Choose the correct item.
1) Taj Mahal is the capital of India.
2) Agra is a palace in Taj Mahal.
3) Many people live in Delhi.
4) There are many cinemas in Taj Mahal.

m - Read the text below and answer the following questions.
A Gl s s 4 9 Ssiles |y 5 e -
“I'm Reza. My uncle lives in a small village near Dezful in the south of Iran. The

weather in winter is cold but in summer it’s hot. In fall, It's rainy but in spring it is sunny.
My uncle plows his field by cows. There is a river near his farm.”

©
5 sl 3 Sy o il g (pie S5 b 52) Cal paien g 5 > saledl ales sl (o g 318 Sig U gy o d SVIg Ll g LS5 el il 9 4035 Ao @0 (Bl pazeie o Jlgm SOl o 53290 slb i sLital»
Caglad oolial Jlgm oS3 Sloas 51 il 03,5 6 s ligal 0 &5 095 d e el 2l (s B o atls a 30 4035 sl ldy) 5 s gyl 4o 00iS 1 o lae 05,5 oo




ik gy (S olgls ol g ol
Gt eSSl L 1wy o6

18- Fill in the table with correct words.
Aled JolS Sy slaojly b 1) Jga -

season | ...l

19- Choose “True” or “False” for the following sentence.
S Gaskice | oabosls Alex (False) w,sb b (True) s -

“Reza’s uncle plows his field with a tractor.”
o True( e ) o False (e ;b)

20- Answer the question completely.
> JulS Fwly 2 ey 4 -
“Is there ariver in Reza’'s uncle’s village?”
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